DELIGHT YOUR CUSTOMERS

100% Compostable Disposables: Safe for Your Customers, Kind to the Planet.



PACK, SERVE, DISPOSE WITH CHUK

Are you looking for tableware that can handle all your delicious dishes? Relax—we've got you covered! Chuk tableware is designed for your biggest feasts, from BBQ ribs to loaded burgers. Chuk is sturdy—so it's easy to pack and serve your food! Since it won't bend your food stays in its happy place—ensuring no spills in your customers' laps. That's a win for all. It's made from natural fibers and is totally toxin-free. Best of all, when your customers are done, they can just toss it in the compost. In 180 days it's back to the earth—like magic!



DELIVERY CONTAINERS TO CHANGE YOUR CUSTOMERS' TAKE-OUT GAME



Your customers will love getting their favorite meals—like paste or salad—fresh and mess-free in Chuk. Designed to keep meals fresh and intact, Chuk ensures your customers can stay cozy at home and still enjoy their favorite dishes without the mess or guilt.













12 oz Bowl *p* ~0.003 kgCO,e 24 oz Bowl 2/16 ozβ owl Lid

p ~0.002 kgco,e

24/32 oz

Bowl Lid

Products	PCS/ Bag	Bag/ CTN	PCS/ CTN	CTN Size (inches)	Product Weight (oz)
12 oz Bowl	125	8	1000	12.6x12.6x14.6	0.5 +/- 0.04
16 oz Bowl	125	8	1000	12.6x12.6x14.6	0.6 +/- 0.04
12/16 oz Bowl Lid	125	8	1000	13.8x13.8x14.6	0.4 +/- 0.04
24 oz Bowl	125	6	750	15.8x15.8x12.4	0.7 +/- 0.04
32 oz Bowl	125	6	750	15.8x15.8x17.7	0.9 +/- 0.04
24/32 oz Bowl Lid	125	6	750	15.8x15.8x15.8	0.5 +/- 0.04

^{*}kgCO2e: Carbon emissions per product

BECAUSE YOUR GOOD FOOD DESERVES A GREAT PLATE!



Your customers will love how these plates don't make their salads mushy—and you'll love how they perform! Perfect for showcasing everything from tasty bruschetta to hearty pasta, Chuk's range of compostable plates shows that you care about offering a more sustainable option, without compromising on quality.













p ~0.001 kgCO₂e6 inches

≯~0.001 kgCO₂e7 inches

→ ~0.002 kgCO₂e10 inches

→ ~0.003 kgCO₂e11 inches

≯~0.003 kgCO₂e12 inches

Products	PCS/ Bag	Bag/ CTN	PCS/ CTN	CTN Size (inches)	Product Weight (oz)
6 inches Plate	125	16	2000	12.6x12.6x15.6	0.2 +/- 0.02
7 inches Plate	125	16	2000	15.0x15.0x15.0	0.3 +/- 0.04
9 inches Plate	125	4	500	18.7x9.4x17.1	0.5 +/- 0.04
10 inches Plate	125	4	500	20.8x10.5x14.8	0.6 +/- 0.05
11 inches Plate	125	4	500	10.1x10.5x20.1	1.0 +/- 0.07
12 inches Plate	125	4	500	25.2x12.6x13.8	1.0 +/- 0.07

^{*}kgCO₂e: Carbon emissions per product

NO ONE LIKES A MESS!



Chuk meal trays are the ultimate solution for keeping your food organized and delicious. These trays keep everything in place, from entrées & veggies to sauces & dips. Now, no more soggy mess, just fresh food!



Products	PCS/ Bag	Bag/ CTN	PCS/ CTN	CTN Size (inches)	Product Weight (oz)
3 CP Snack Tray	125	8	1000	17.1x13.6x20.9	0.5 +/- 0.04
3 CP Tray	125	4	500	20.1x15.7x11.0	0.6 +/- 0.05
4 CP Tray	125	4	500	24.4x9.9x20.8	1.1 +/- 0.09
4 CP Mini Meal Tray	125	4	500	21.7x11.0x14.6	0.8 +/- 0.04
5 CP Tray	125	4	500	24.4x9.9x20.8	1.1 +/- 0.09
8 CP Tray	125	4	500	22.0x13.6x22.0	1.3 +/- 0.09

^{*}kgCO₂e: Carbon emissions per product

LITTLE BOWLS, BIG DIFFERENCE



Whether it's appetizers, sides, or desserts, Chuk compostable bowls give a perfect dining experience. They won't get soggy or bend, even with plenty of food. Made from sugarcane bagasse, they are completely natural and compostable.



Products	PCS/ Bag	Bag/ CTN	PCS/ CTN	CTN Size (inches)	Product Weight (oz)
4 oz Bowl	125	16	2000	14.6x7.5x11.6	0.1 +/- 0.02
4 inches Bowl	125	16	2000	17.7x9.1x17.7	0.1 +/- 0.02
6 oz Bowl	125	16	2000	17.0x8.7x9.3	0.1 +/- 0.02
8 oz Bowl	125	16	2000	16.9x10.5x10.2	0.2 +/- 0.02
12 oz Bowl	125	16	2000	22.8x11.4x20.9	0.3 +/- 0.04

^{*}kgCO2e: Carbon emissions per product

CONTAINERS SHOULDN'T GET IN THE WAY OF A GOOD MEAL



Your customers will love enjoying their favorite dishes in these sturdy containers. Whether it's pasta or salad, these sugarcane bagasse containers hold up without bending or getting soggy.



→ -0.004 kgCO,e16 ozContainer



25 oz Container



p ~0.004 kgco,e16 ozContainer Lid



25 ozContainer Lid

Products	PCS/ Bag	Bag/ CTN	PCS/ CTN	CTN Size (inches)	Product Weight (oz)
16 oz Container	125	8	1000	21.3x19.5x12.8	0.5 +/- 0.04
25 oz Container	125	4	500	23.2x12.8x13.0	0.7 +/- 0.05
16 oz Lid	125	4	500	20.3x14.6x15.0	0.5 +/- 0.04
25 oz Lid	125	4	500	24.0x15.6x3.2	0.7 +/- 0.04

^{*}kgCO2e: Carbon emissions per product

FORK YEAH! THE ULTIMATE CUTLERY ADVENTURE STARTS HERE



Did you know disposable cutlery could still offer a pleasant dining experience? Our birchwood cutlery is smooth, sturdy, and makes every meal enjoyable—perfect for dishes that need more than just fingers!



Products	PCS/ Bag	Bag/ CTN	PCS/ CTN	CTN Size (inches)	Product Weight (oz)
6.3 inches Spoon	100	100	10000	24.2x16.9x13.0	0.09
6.3 inches Spork	100	100	10000	24.2x16.9x13.0	0.09
6.3 inches Fork	100	100	10000	24.2x16.9x15.0	0.08
6.5 inches Spoon	100	100	10000	24.2x13.0x17.7	0.11
6.5 inches Spork	100	100	10000	24.2x13.0x17.7	0.11
6.5 inches Knife	100	100	10000	20.9x15.0x13.4	0.08
5.5 inches Spoon	100	100	10000	22.4x16.5x11.6	0.06
5.5 inches Fork	100	100	10000	22.4x15.0x11.6	0.06
5.5 inches Spork	100	100	10000	22.4x16.5x11.6	0.06
4.3 inches Spoon	100	200	20000	22.4x16.5x11.6	0.04

CHEERS TO THE EARTH: SUSTAINABLE SIPPING WITH ESPRESSO CUPS



EVERYTHING YOU NEED, ALL IN ONE PLACE: EXPLORE OUR COMBOS!

Party Caddy - Plates, Spoons, and Tissues (10 of each)

Spoon Caddy -32 Spoons





YOUR CUSTOMERS DESERVE THE BEST EATING EXPERIENCE. THIS IS WHY CHUK TABLEWARE IS:

- Oil & water resistant
- Super sturdy
- Ensures no aroma migration
- Oven, microwave, & freezer safe

AND HERE'S HOW WE ENSURE THAT YOUR CUSTOMERS 'EAT SAFE':

- Only 100% natural materials make Chuk tableware toxin-free.
- They are 100% home or backyard compostable.
- Our Indian manufacturing facility recovers 95% of cooking chemicals.
- We operate on 100% biomass energy.
- We don't use harmful bleaching chemicals, making our products safe and free from carcinogens.

YOU CAN BE THE HERO!

CARBON EMISSIONS (in kgCO₂e)



Your Chuk used



If Plastic used



If Paper used

Carbon Emissions Saved



1.7 FLIGHTS
BETWEEN

Delhi to Duba



23.8 TRAIN
TRIPS FROM

New Delhi to Bengaluru



9.3 x 1 PERSON'S

MONTHLY

Electricity Consumptions

The planet will salute your contribution!

SUSTAINABILITY AND
CONTRIBUTION TO OUR
PLANET ARE BUILT INTO OUR
DNA. EVERY ACTION THAT WE
TAKE IS DIRECTED TOWARDS
THAT PURPOSE.



OUR ENVIRONMENTALLY-FRIENDLY MANUFACTURING HELPS YOUR SUSTAINABILITY GOALS



95% self-generated biomass energy.



95% cooking chemicals recovered.



Completely off grid and self-sustained.



Utilisation of local agri-residues as raw material.

HOW WE USE WASTE?



Egg trays from sludge.



Mineral bags from lime sludge.



Silica extraction and soil enhancement from rice husk ash.



Methane from waste water.

THEY TRUST US, SO SHOULD YOU!

FOOD SERVICE BUSINESSES





























RETAIL CHAINS & E-COMMERCE













WHY CHUK COMPOSTABLE TABLEWARE, YOU ASK?

Don't want to brag, but just look at the awards and certifications below and you'll know why.

CERTIFICATIONS



ISO IS 17088 COMPOSTABLE CERTIFIED



FOOD SAFETY CERTIFIED



MICROWAVE & OVEN SAFE CERTIFIED, OVERALL MIGRATION SAFE



WET RUB APPROVED



OIL & WATER RESISTANT,
HEAT & COLD RESISTANT CERTIFIED



HEAVY METALS FREE

HIGHEST DESIGN AWARDS









For certification details, scan the barcode:

YOUR CUSTOMERS WILL LOVE YOUR FOOD **EVEN MORE!**



A Pakka Offering

To order or know more about Chuk's story:

Visit chukusa.com

Contact us: +1 (917) 570-0717 | john.holmes@pakka.com







